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1) The passage is mainly concerned with

2) Which of the following would be the best title for the passage?

3) What’s the purpose of the passage?

4) The author develops his main idea by

5) The best title for this passage is .
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2) Which of the following is true according to the passage?

3) We learn from the beginning of the passage that
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1) It can be inferred from the passage that

2) The author suggests that

3) The writer’s general attitude towards ... is

4) What’s the tone of the passage?
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1) Which of the following statements is not true according to the passage?

2) All of the following is true except

3) The author describes all of the following except
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1) The word “ 7 (paragraph , line ) here means
2) What is the possible meaning of the word “ 7 in line 2
3) Which is the probable definition of the word “ 77
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Read the following four texts. Answer the questions below

each text by choosing A, B, C or D.

Text 1

To many web-building spiders, most of whom are nearly blind,
their web is their essential window on the world: their means of
communicating, capturing prey, meeting mates and protecting themselves.
A web-building spider without its web is like a man marooned (Ji{ %
I #ic &) on an island of solid rock, totally out of touch and destined
to starve to death.

So vital is the web to an orb-web spider’s survival that the
animal will continue to construct new webs daily even if it is being
starved. For 16 days the starving spider builds completely normal
wehs. Then, as the animal gets scrawnier (9% Wi%5119), it constructs
a wider-meshed web usiﬁg fewer strands (¥, #%) . Such webs would
only trap larger prey, which is more economical from the perspective
of a starving spider.

The spider conserves energy by recycling web proteins. It simply
eats its own web each evening and re-uses it to manufacture new
silk. In studies with radicactively labeled materials, it was found that

95% of web protein reappears in the next day’s web. Most of the
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energy needed for web-building is used in walking over the strands

as they are laid down. ,

Scientists are impressed by the adaptability of the spider’s highly
preprogrammed brain, which is larger for its size than the brain of
any other invertebrate. If web-building is interrupted, or if some of
the existing strands are destroyed, the spider simply retraces its steps
to see where the web is left off and then finishes building a normal
web. One spider will even finish building the incomplete web of

another.

1. A title that would best express the main idea of the passage would
be
A. Secrets of Spiders B. Secrets of the Web

C. Secrets of Nature D. A New Discovery of Scientists
2. According to the passage which of the following statements is true?
A. All web-building spiders are blind.
- B. Most spiders are blind.
C. Only a small part of web-building spiders can see.
D. All spiders can weave webs.
3. Without its web a web-building spider would NOT be able to B
A. walk quickly B. see the prey clearly
C. conserve its energy D. survive
4. A spider conserves its energy
A. because it constructs new webs daily
B. as it walks over the strands it lays
C. by eating its own web protein and then re-using it in the new web

D. by eating only in the evening

5. That a spider is able to finish an incomplete web of another proves
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A. a spider re-uses its web energy to reproduce new silk
B. spiders have a highly preprogrammed brain
C. the web is everything to a spider

D. a spider is able to remedy a destroyed web

Text 2

We all know that the normal human cycle of activity is of some
7—8 hours’ sleep alternating with some 16—17 hours’ wakefulness
and that, broadly speaking, the sleep normally coincides with the
hours of darkness. Our present concern is with how easily and to
what extent this cycle can be modified. -

The question is no mere academic one. The ease, for example,
with which people can change from working in the day to working at
night is a question of growing importance in industry where
automation calls for round-the-clock working of machines. It normally
takes from five days to one week for a person to adapt to a reversed
routine of sleep and wakefulness, sleeping during the day and
working at night. Unfortunately, it is often case in industry that shifts
are changed every week; a person may work from 12 midnight to 8
am. one week, 8 am. to 4 pm. the next, and 4 pm. to 12
midnight the third and so on. This means that no sooner has he got
used to one routine than he has to change to another, so that much
of his time is spent neither in working nor in sleeping very
efficiently.

The only real solution appears to be to hand over the night shift
to a number of permanent night workers. An interesting study of the

domestic life and health of night-shift workers was carried out by
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